\ ﬁ % ﬁ SMOME GB35 (FEGE 5 )

Z2E TR BIC5: A7

_|_

1w
o[ —

ol M~ | N
+ +
ool W O | W
Il Il

+
Nl W

(\SREEN O | D
+
ool

Il

+
O | —

(O NEEN

B
_|_
B

NN
+
DO | D

W
+
NIl )
I

RN e
+
|~

www.snowmath.com


https://www.snowmath.com

COLYE S HOME GBS E) CRBILH )

2 HICE: 237
3 1 31
S —

4 9 36

2 3 13
4=

7 9 21

4 3 7

4+ =

8 &8 8

5 3 19 |
T
9 6 18 18
T,7_.3_,3
2 8 8 8
7 1 68 23
S+l ==1=
5 9 45 45
2 1 3

“ye ==

4 4 4

2,3 _17_,5
6 2 6

3 2 35

I ——

4 9 36

6 1 23 9
—r =1
4 7 14 14

www.snowmath.com


https://www.snowmath.com

